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Full Marks : 80
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The figures in the margin indicate Jull marks
Jor the questions

1. Answer the following questions (any ten) :
1x10=10
S PR Ted ferst (R e weht)

(a) What is social indifference curve?

AN e @ 2

(b) Define property rights.
T Sifgps e fia |

(c) What is monopoly power?
GCHBA IS *fe 2
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(2)

d i

fe) Define saddle point
o R et i |

() What is payoff matrixp
e e R

(g9 In
g what. typ' € of mark
ymmetric Information et we get

(h)  Give an example of posi
i

(U] What is
discriminationp

S S 8 R0 0 R gy
Y

() What i
oli S the basie diffe
gopoly and dquolyp Tence between

TERTer
=9
“fefay 9 AL mﬁﬂ? TR e
(k) What is shutq Sntan

SR Ry s o SR

22A/1119
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——

(3)

() Define cartels.
TeAw FRI ke i |

(m) What is exclusivity?
Ffagaet i & 3w 2

(n) Write one difference between private
goods and public goods.
FFee T SF 5N Th A9 g1 #A12f

foram
(o) State Bertrand’s model of oligopoly.
Elﬁﬁﬁﬁﬁ ’Sﬁﬁﬁﬁ\bﬁ GIGEE \‘:Qﬁﬁ! Ire 41|
2. Answer the following questions (any five) :
2x5=10
oo 2rpiEs T o (R e =liwb1) :
(a) Define Pareto efficiency.
(1D’ T i fuar |
(b) Write two features of public goods.
Jrerzal TR 1 e o |

How does concentration ratio determine
degree of monopoly power?

@R SRS GO0 TH =g @
@eaed e T3 ?

22A/1119
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(4)

(@)

What is ‘two-person Z€ro-sum’ game?
MR- X prspepay? &= 9
() What is

a market?

T TS et R oy o

() Distinguish between
efficiency ang €xchange eff
BT

meant by signaling in

pProduction

(g) What are minj
Imax and imi
maximin

strategies?

NEICHIIE T ‘R R R
(h) What is thi

discriminationp hlrd-degree ¥ B

TR @ g e s

3. Answer the following Questiong (any four
O 2PTRA e forgy (R (R wifny) K
(@) Explain how effic
ien

n el thmug}{ Cé\n be achieved

diagram, R Do

TSI Y, Foge Rt

KBRS TS (e
AR =R, A ey { i
22A/1119
( Continued )

(S)

(b) Briefly explain the causes of market
failure.
TS RFAR FRPR THLF AR 1 |

(c) Explain the concept of excess capacity

P

under monopolistic competition.
RIEFTE IS Ty SfeRE  FEeR
QIEITCHT T 547 |

(d) When is price discrimination possible
and profitable? Explain.
T Rrenedd @R T e AewEs 2 ?
T AT

(e) Explain the concept of Prisoner’s
Dilemma.
TR B QEECE! T 4

() Distinguish between perceived and
proportionate demand with the help
of a diagram.
fiog @ WRREFe Wi wREpEnfee wifke
YIFEIICHT I 4L |

(g) Explain how the growth of monopoly
power can lead to market failure.
GHCETHAl AR SATST (Feemcd IuE [RFere
%8 e, A F9 |

22A/1119 (T Quey)



(h)

4.

(@

(b)

()

(6)

D .
0 you think monopolist always

€arns  supernormal
I profit?  Justify

GO TR Ry
YR M el o
WW?WW{%W| EIiC)

X 3
nswer the following questions (any Sfour) :

O PRI B BRI (R ot iy

10%4=40

What is production-
(PPF)? How can regg
efficiently through p
third condition for ¢

Possibility frontier
lljlrces be allocated
pt.P‘?alState Pareto’s
imality =
oy : 2+6+2=10
ST T (. oy, %) 59 Seom

How can monopoly

v
and regulated? Expl:f\)inwer be controlled

GO T s
R R T S o

10

22A/1119

( Continued )

(d)

(e)

(g)

22A/1119

(47 %)

Explain how prices and output can
be determined under monopolistic
in the short run and

competition
10

long run.
GERFE AGES T HE TeAME ZERED A
BT (O Fretel A A, 0

Explain diagrammatically Cournot’s
model of duopoly equilibrium.

951 T R ST ST T

10

Write two applications of game theory.
Explain the method of solving
a two-person zero-suim game. What are
the limitations of game theory? 2+6+2=10

o wga o1 Acel Bl 1 @b R-IE Y-
P G e Bt a1 S | SR
91 | (3 ©GT SR STy 41 |

What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
markets where information asymmetry

prevails. Zeb 2 0

WW%?WWW@
Rwgq ST TR ? YO P SIS
qeEq S el |
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(8)

(h) Explain why there is no supply curve
under monopoly. Explain the

case
of dumping in international price
discrimination. 5+5=10
ROA THRS G ey R coma

T AN G T o W& Rretiga
IS 1T LR 2517 oy |

() Describe how g4

10

Ul SomEatel hand
and Stackelberg’s €quilibriym under
oligopoly.

10
TCTOR TS qrgpey

S ey
Emwmmagsﬁnvmaiﬁmhncwi T A

g

* ok
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Full Marks : 80
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The figures in the margin indicate Sfull marks
for the questions

1. Answer any ten from the following as
directed : 1x10=10

oS RTINS e Wb Rt Sed fim -

(a) Mention one assumption of Harrod-
Domar growth model.

EAT-TIR [ wfEq 9B Sy SrEs
49 |

(p) Name one neo-classical growth model.

T-FES [ =i B = o |
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(2)

(3)
¢ What is meant by technological () What is meant by fiscal policy?
progress? e TS oreat & gom 2
efeers TS I % om0

(k) What is Ricardian equivalence?

1y st & 9

(d) Define average propensity to consume.
TS (19 2T @ fir |

() What is meant by active monetary
life-cycle policy?

AT g e F o 2

(e} Who introduced the
hypothesis?
BI-5F SR GG T wRfee 2

(m) Who are the classicists?
() Mention one assumption of permanent

; ; NERFReRed G @ 2
income hypothesis.
¥ =g I o Sy SCE 1 | (n) Did Keynes believe in full employment
equilibrium?
(g) Rational expectation model is related to @ o SReTere et SfRfee 2
Robert Hall/Friedman. Tfﬁm ? ‘
( Choose the correct answer ) (0) Name one new Keynesian economist.
:{@W@mqﬁmm,@/@ e I {9 (0 NS AW B2 |
MBS |
(% Tevh) 91k S )
T 2. Answer any five from the following
(h) What is investmentp questions : 2x5=10
R fs o T 2R B e Sfivhe Tey oy
(i) What is liquidity preference? (@) What is the golden rule?
ORE S R o cmenan o 5 2
20A/1120 22N (1130

(Continued ) ( Turn Over )

L‘"‘-mk,_ﬁi_ix / O Sl = ; : z e



(4) (5)

(b) What is meant by endogenous growth? 3. Answer any four from the following
e R {%Z?[ £ = 2 guestions : 5x4=20
g PIRE R I wifee T i - :
(c) Mention two differences between
Harrod-Domar model and Solow model. (a) What are the two effects of investment
@T-CNE W WE v W wem i according to Harrod-Domar model?
el Teas 91 | el
@T-IR W SR R o ger
(d) Why marginal propensity to consume 5 2 21w <54 1
cannot be greater than one?
afes (o gl R gves @ wq (b) Explain Keynes’' psychological law of
IR 2 consumption.
CW W Gl ] I17 |
fe) What is random walk of consumption Gl oy o
expenditure?
() Explain the elements of endogenous
9
¢S5 IRE AP (1S 9 Bier .
() Mention two monetary policy targets. Srgse e SATATR 101 1 |
@1 e 101 7T SrEd 79 |
(d) What are the limitations of Harrod-
(99 Mention two differences b Stbuar Domar model? Explain.
classical and Keynesian thoughts, @T-TAR WE Karaeryz & 2 e
ﬂW%WWﬂWWW@mW 40 |
STE 991
i the concept of inventory
h) Menti (e) Explain
(h) ention two features of classical investment.

macroeconomic thought.
H%WGWWWW@TWWWW |
22A/1120

S1ed RICISE QR =0 41 |
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24

(6)

(/) Explain the time consistency problem of
monetary policy.

T4 ST ST -SePTR FPTE! 47 341 |

(9) Distinguish between external and
internal government debt.

TRE A TSR IR AR A wA1af
[ERER N

(h) Explain the main features of new
classical macroeconomic thought.

T RERre e sRamE
ol EGS IR PES

4. Answer any four
questions :

S IR R 1o wiRe Ty fiy -

from the following
10x4=40

(a) Critically discuss the Solow model of
eéconomic growth. :

E{Qﬁ;{ﬁ!ﬁﬁ W 55
SICATGT 47 | 1 ST ST

(b) Discuss Fisher’
S theo . )
temporal choice, Iy of optimal inter-

5T Ty e
90| R o

22A/1120
( Continued )

()

(@)

(e)

(9)

)

22A/1120

(7)

Discuss the Keynesian consumption

function.

(T (SI9 FofeLol ST 1 |

Critically  discuss  the life-cycle
hypothesis.

S5 SERFCO! Sl FRPCI SACAOAT
el

Is permanent income hypothesis an
improvement over life-cycle hypothesis?
Discuss.

T/ S SEEAG! A SEEESE TS

@ 7 S F4 |

Discuss the determinants of business
fixed investment.

T fe RivaeR PR S @9 |

What are the motives of demand for
money according to Keynes? Discuss.

@ W R v waen & 2
SliciizissIl

Discuss the objectives of monetary
policy.

w1 A TCRIFPR SHCOA 7 |
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(8)

(i)  Discuss the main features of Keynesian
thought.

DI ST 71 CREPTR SiceAo <o |

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

SHEAM SRR w9 QTP B iy
SRR Jo SRR Se=oaT <5 |
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The figures in the margin indicate Jull marks
Jor the questions

1. Answer the following questions (any ten) :
1x10=10
o 2Pees Tes o (R e wby)

(a) What is a standard normal variate?

e AR {59 & 2

22A/1121 ( Turn Over )






(2) (3)
(b) When do we use F-test? (h) When does type-1I error occur?
I F-+3r%1 @fom 21 96119 Bizei-11 @i (fou1 Ted 25 ?
(c) What is meant by scaling? () Why do we add a random term in a
linear regression model?

i ST Sty «bre @b om <o e an

J “ffRe1el qfercet s g 2
|
| =2

(d) When does specification error arise?

Rew e @ cofem Tea =72 () What is meant by degrees of freedom?
yegor T 3ferca fe Em?
(e) If the error term i
18 not distri
normally with 62 variance w‘:smbuted (k) 1f E{UU;) #0, which problem does arise
problem may arise? e (ype of in a linear regression model

Y[ =a+ﬂXt +Ut?
ﬂﬁ?ﬁmmﬁﬁﬁﬁ'\ﬁﬁmmcz oo

TR COUR'C (TR TP Teq =g 2 51t SR @R Y, =0 +BX, + Uy A

EU,U;) 20 =1, otz ce & T Ted =W ?

() Why are there two regression li () What is the relation between correlation
lines?
and regression coefficients?

ST WIF SHEET F25R e a2

(90 What is adj 2
adjusted R?? (m) What is critical region?

e B stbeyd i R 2

22A/1121
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( 4)

(n) State the

: €Xpress;j
distribution, pression for normal

(0) What is the differenc

square?

Eﬁ—‘f‘iﬁmmﬁfw

T e T T CaTsRe

2. Answer
any five of the following questi
ions :

CE wﬁnﬁ@mmm e 2x5=10
(@) Writ :
) r1 : \ two  yses of
t distribution. Student’s

Student’s ¢RI 51 2z fiey
s |
(b) Distinguish 1 ey

(c)

R 5 L3 ¥
ket i g AR O PEF R5HT
(d) What is i
b pPartia] Tegression coefficient?
TTHRET @91 5
22A/1121

{ Continued )

(e)

(9)

(h

Answer any four of the following questions :
5x4=20

(5)

Distinguish between multicollinearity
and autocorrelation.

T SF FACTDTIA A A4 o |
Write two assumptions of F-test.
F-~fRrerd o1 SfSaRe ot |

What are errors in variables?

v T o 2

Give two reasons for arising multi-
collinearity problem.

T O e (2R o1 P T |

wo@ R e oI e T fera

(@)

(b)

(c)

22A/1121

Explain diagrammatically the area
property of normal distribution.

SRe 35 S CABICe fous FTRArS SICEDHl
F41 |

What are the properties of a good
estimator? Explain.

<51 TaT SNFFIRA AFEFEE T 9 |

Explain the assumptions regarding the
stochastic term of the linear regression

model Y; =a +BX; +U;.

Y, =0 +BX, +U; (AR e ey @b

o[ BTE SfSHRETCIE W 1 1
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( 8) (9)
sam
takeile of 5 Students frq fe) In a three-variable linear regression-
80 40 The Ina_rks SCOre‘;n a ClaSS was model Yt :BO +ﬂ1X1t +B2X2[ +Ut!
Obéewggo: 90 and 80, pre tt;y el estimate the parameters Bo, By, Ba- 10
L 1008 confirm th ese sample
8¢ 1s 707 at the class GG o vees TEEET @R PR
ESgis Corresponm:;lilated value of Sferear RS AR SN
X5 o (-1 df] Y, =Bg +P1 Xy +B2X2 +USE Bos B1» B2
ElIEg mﬁ 2+3+5=10 255 24 |
;T : %:I“W Regq @;fz@m TS “f12f<s
<o el 5 O Sz
il e R e P LRRK: () A production manager is trying to
5% 80 T 53 3f 80 4 I Gt estimate the contribution of labours and
e A, @3 I ’ﬂ:ﬂa 0, 50, 90, machines to output. Consider the
b AR T8 70 I regression model
"D A3 Moo Y= X, +BpXo +U
fc) State and “R’%th:z 78 =Bg +B1 X1 +B2 X2 +
for B ip rm.;e Gauss- )\ arie | Compute the least square estimates
¥ =B 01 b ﬁnX linear regreSSIOV theorem including interrupt term from the
param eterls ;I':dUn Where Bo :Ed model following observations :
U .
Yi =By +B1.X, +U ENiS Stochastic tBelr 3 Output (Y) Labours (X)) Machines (X2)
TS v ?ﬂf@ TET g @nm' 10 40 46 24
e 199
ST By 2i5e1 27 = ¢ T 391 | e = 5
i ¢ G o 2y, Bo 37 54 12
W to m
I_ez‘gresmOneasmre? the standar o 50 50 50
o estimatorp f lfitrrors of 36 42 19
forecazt-s of hypothesig " DA the Apply the least square method to
o ng. esting anqg estimate the parameters. 10
TRRTS SRy oy T 2+4+4=10
;H%Wﬁ%qwm o1 =g 9 & T A9 XN W e SO
41 | TR 279 Seoee SR RN I R0 | BT AR
22A/1121
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ay
or m
ecification err

| .
: ded in
‘ Sp i .S mclu'
) Explain h?::rant Vanab;:;. Explain the
0 ise if irre siopfmeas n error. 0
RIIES Y=g, +B1X; +BaX, +um T al-llineaf AL f specificatio ik
: (0]
faoy Tty 2 RS a uences
s q
N | ' o w RO ﬁ«m Sall
TR ) i @ (Xy) | e ST |
40 46 24 | T = ?
42 60 15 | & K
37 54 12 J‘
50 50 50 ,
36 42 19
ey 3sf TS Iz I HTS=TR ey |
(9) What are  the SOurces f auto-
Correlationp Describe Durbm—WatSon
D test 4+6=10 I
TR T SoPTg £y R SRe-erimm
D =371 1 A
(") Explain the consequences of multi-
collinearity. 10
AR ST 57 |
(i) How can heteroscedasticity affect OLS
EStimatiop,» VWO U o Correct for a
hetergg dastic €Tror term if the nature
of th

e eteroscedasticity is known?

5+5=10
ﬁm%ﬁﬁm%mcﬁm?ﬁ
ﬁ‘mﬁsﬁm&lﬁ%

O HC 3
o g T 3 (Sem:
Cﬂﬂm%m 14 o
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